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1,427.47 ki
118,787

190.95 ki
5110

527.27 ki
2976

20.0%
44.4%

30.5%

31.8%

37.2%

42.5%

10,690.5 3k (10,621.29 ki)
(83,423.84 ki) 12.8

285,525 (H30.1.1
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H30.3.31

......................................................... 7924 _1000%| 5562 1000%| 1235 1000%| 1127 1000%
.......... 65 | a49s serw| 4120 7a1w| oo sow| 277 2a6%
65 3428  433%| 1442 259%| 1,136 92.0% 850  75.4%
______________________________________________________________ 423 1000%| 324 1000%| 63 1000%| 36 1000%
__________ 65 | 257 eosw|  2az  7a7w| 6 9sw| o  250%
65 166 39.2% 82,  253% 57, 90.5% 27 75.0%
______________________________________________________________ 226 _1000%| 189 1000%| 21 1000%| 16 1000%
__________ 65 | 1en  7iow| 152 soaw| s ssaw| 1 3%
65 65  28.8% 37, 19.6% 13 61.9% 15 93.8%
|
7924 1000%| 5562 1000%| 1,235 1000%| 1127, 100.0%
205 2.6% 102 1.8% 100 8.1% 3 0.3%
7719  97.4w| 5460, 982%| 1,135  919%| 1124  99.7%
423, 100.0% 324! 100.0% 63, 100.0% 36/ 100.0%
45 10.6% 31 9.6% 14, 22.2% 0 0.0%
378 89.4% 203/  90.4% a9 77.8% 36| 100.0%
226 100.0% 189! 100.0% 21, 100.0% 16, 100.0%
11 4.9% 1 0.5% 10 47.6% 0.0%
215  951% 188  99.5% 11 52.4% 16  100.0%

it
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Rt (dtRihis) —6
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ARt (dt BRihish) —7



30 8 28
29

30 10 1 16 65

30 10 4

30 11 7

IRt (dt Rubis) —8



(H30.12.12

(A) (B) (B/A)
1,596 797 49.9%
147 81 55.1%
76 47 61.8%
1,819 925 50.9%
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13
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Rt (dtRihis) —9
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ItRt (dtR#hizg) —10
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ItRt (At Rihis) —11
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ItRt (dtRihis) —12



(H29.4 H30.3)

ItRt (dtRibis) —13

®)
A B A
A ) ()
621 484 137 2774 231.2 2,318 193.2 456 38.0
1553 121.0 343 6935 57.8 5795 48.3 114.0 95
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